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Run 5885 quartetwise, PosHelAccO/NSamplas0

=== Laser O -—

Entrie=: 16354
Mean: 12,5454 «/- 0U0124
St Dhey- 1.6820 4~ D.00ED

=== Lager OFF ---
Entrie=: 21249
Mean: 35192 «- 0.022
Sid Dhey: 03236 - D006

] .

Run 5885 quartatwize, Diffs)

18

JIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|

=== Laser O -—

Entries: 16364
Mean: -0.67%0 «/- 00130
Sid Dhey: 17617 +~ 00092

=== Laser OFF ---
Entries: 21249
Mean: 00025 +- 0.0029
Sid Dey: 04168 -~ 00020

Run 5885 quartetwise, Asyms(

=== Laser ON -—
Entries: 16354
Mean: -31.0722 +/- 0.59748
Sid Dhey: 54,5399 4/~ (L4934

=== Laser OFF ---
Entries: 21249
Mean: 01348 +- 0.1534
Sid Drey: 22 3660 +- 01005
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—— --— Laser OM -—-
— Enlries: 16354
— Mean: 151244 «- 00131
= Sid Dhev: 1.7704 &&= 00093
— === Lager OFF ---
— Enlrie=: 21249
— Mean: 3.5167 +/- 0.0022
— Std Dev: 03242 +- 0.0016
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Run 5885 quartetwize, Sumsl
— === Laser O -—-
[ Entries: 16354
— Mean: 25,6698 +- 00220
— Std Dev: 2.9801 +- 0.0156
[— === Laser OFF ---
— Enlries: 21249
[ Mean: 70355 +- 0.0034
— Sid Dwev: 04960 +- 0.0024
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Run 5885 quartetwise, PosHelAccd

— Lasar O —

trines: 12354

Mann: 11843308010 +- ITIT0LSEES
=5 Dwre: 3135061 ADEY &1 2EE]S. 10T T

— Lassar OFF —
Enlnie: 21245
Masn: SI3940F 0747 «- M1
S Drire: S350 TR SIES 4= ZTT0LSET1
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Run 5885 quartatwise, Diffsd

— Lasar O —
tnines: 1535
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— L OFF —
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Maan: 154D =~ 411414818
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Run 5885 quartetwise, Asyms4

=== Laser ON -—
Entries: 16354
Mean: -31. 2430 +/- 0.6873
Sid Dev: 53,1124 /- (LABED

=== Laser OFF ---
Entries: 21249
Mean: 003119 «~ 0.0714
Sid Dev: 104002 +/- LOG05
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Run 5885 quartetwize, Sumsd
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Run 5885 quartetwise, Asyms LISbg1

=== Laser O -—

Entrie=: 16354
Mean: -0.00649 «- 00OEE
St Dhey: 0LA7TS - 00025

=== Lager OFF ---
Entrie=: 21249
Mean: -0.0004 < 0LO00O3Z
Sid Dey: 04725 - 00023

Run 5885 quartetwize, Asyms DSbg1
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=== Laser O -—

Entries: 16364
Mean: -0.0001 «/- 0U00DE
Sid Dhey: 0L0E26E - 00004

=== Laser OFF ---
Entries: 21249
Mean: -0.0004 «/- 0LO0DE
Sid Drey: 0L0E29 - 00004

Run 5885 quartetwise, Asyms Horiz Fingar

=== Laser ON -—

Entries: 16354
Mean: -0.00649 «- 00026
Sid Dhey: 003340 =~ 00017

=== Laser OFF ---
Entries: 21249
Mean: 0000 «- 0.0027
Sid Drey: 03809 +- 00078
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Run 5885 quartetwize, Asyms USbg2

=== Laser O -—-
Entries: 16554
Mean: -0.0015 «/- 00024
Sid Dheyv: 03242 & 00007

=== Lager OFF ---
Enlrie=: 21249
Mean: -0.0070 «/- D022
Sid Deyv: 03228 - 0006
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Run 5885 quartetwize, Asyms DShg2

1

=== Laser O -—-
Entries: 168354
Mean: 00003 «- 0.0006
Sid Deyv: 00758 - 00004

== Laser OFF ---
Enlries: 21249
Mean: 00002 +/- 0.0005
Sid Deyv: 00752 - 0.0004

Run 5885 quartetwise, Asyms Vert Finger

=== Laser O -—-
Entries: 16354
Mean: -0.0014 «- 0001 &
Sid Dev: 0.2404 &~ 00073

== Laser OFF ---
Enlries: 21249
Mean: 00026 +- 0.0018
Sid Dev: 02684 - 00073
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